Work Order No.: ASDM_PLSFS_AS195700179100_LFS/ Work Order Date: 18/04/2019

Q0401_22042019_14001800_NR/1298

Department Name: ASDM

Name of Training Partner: Foundation of Modern Studies and Social Welfare

Name of Traning Center: Foundation of Modern Studies and Social Welfare (134/2017) TC ID: AS195700179100

TC Address: BDMCHE BUILDING. AZAD HIND ROAD.LANE NO -5,Block-null,District-Cachar,State-Assam,Pincode-788007
Contact Number: 7005955284 E-mail: imsdelhi59@gmail.com

Subject: Work Order For Skill Training under Placement Linked State Funded Scheme

Dear Sir/Madam,

In reference to contract signed by you under the Placement Linked State Funded Scheme by ASDM, Government of Assam and the list of beneficiaries submitted by you the following batch is awarded to Foundation of Modern Studies and Social Welfare (134/2017) under Placement Linked State Funded Scheme.

Batch Information

Parent Target Name: Target for 2018-19 (30:50:20) Target ID: 878

 Batch ID: 1298
 Batch Code: ASDM_PLSFS_AS195700179100_LFS/Q0401_22042019_14001800_NR_1_1

 Batch Start Date: 22/04/2019
 Batch End Date: 08/10/2019
 Shift: 02:00 PM to 06:00 PM

 Sector: Life Science
 Job Role: Medical Sales Representative
 QP Code: LFS/Q0401

Payment Information

Cost Category	Number of Candidates (A)	Rate Per Hour (In INR) (B) Course Duration Payment Per Candidate (In INR) (B) (In INR) (D=B x C)		Total Payment (In INR) (E=A x D)	
2	25	39.90	520	20748.00	518700.00

Note: Total Payment Is Exclusive of tax as per Government Norms

SI.No.	Instalment And % of Cost (A)	Milestones	Total Candidates (B)	Unit Price (In INR) (C)	Total Amount (In INR) (D = B x C)
1	30 %	On commencement of the training batch against validated candidates	25	6224.40	155610.00
2	50 %	on assessment results and successful certification subject to conditions of Process norms	25	10374.00	259350.00
3	20 %	Outcome based on placement as per Process Norms. For details refer to S. NO 15 of Process Norms	25	4149.60	103740.00

Note:

- The Detailed terms and conditions shall be as per the Contract Agreement signed between ASDM, Government of Assam and M/s Foundation of Modern Studies and Social Welfare (134/2017)
- . Kindly acknowledge receipt of the same through email and letter to the respective department.

Thanking You

Work Order No.: ASDM_PLSFS_AS195700179100_SSC/ Work Order Date: 15/01/2019

Q2212_17012019_08001200_NR/169

Department Name: ASDM

Name of Training Partner: Foundation of Modern Studies and Social Welfare

Name of Traning Center: Foundation of Modern Studies and Social Welfare (134/2017) TC ID: AS195700179100

TC Address: BDMCHE BUILDING. AZAD HIND ROAD.LANE NO -5,Block-null,District-Cachar,State-Assam,Pincode-788007

Contact Number: 7005955284 E-mail: imsdelhi59@gmail.com

Subject: Work Order For Skill Training under Placement Linked State Funded Scheme

Dear Sir/Madam,

In reference to contract signed by you under the Placement Linked State Funded Scheme by ASDM, Government of Assam and the list of beneficiaries submitted by you the following batch is awarded to Foundation of Modern Studies and Social Welfare (134/2017) under Placement Linked State Funded Scheme.

Batch Information

Parent Target Name: Target for 2018-19 (30:50:20) Target ID: 246

 Batch ID: 169
 Batch Code: ASDM_PLSFS_AS195700179100_SSC/Q2212_17012019_08001200_NR_1_1

 Batch Start Date: 17/01/2019
 Batch End Date: 21/06/2019
 Shift: 08:00 AM to 12:00 PM

 Sector: IT-ITES
 Job Role: Domestic Data Entry Operator
 QP Code: SSC/Q2212

Payment Information

Cost	Number of	Rate Per Hour	Course Duration	Payment Per Candidate	Total Payment (In
Category	Candidates (A)	(In INR) (B)	(In Hrs) (C)	(In INR) (D=B x C)	INR) (E=A x D)
2	30	39.90	440	17556.00	

Note: Total Payment Is Exclusive of tax as per Government Norms

SI.No.	Instalment And % of Cost (A)	Milestones	Total Candidates (B)	Unit Price (In INR) (C)	Total Amount (In INR) (D = B x C)
1	30 %	On commencement of the training batch against validated candidates	30	5266.80	158004.00
2	50 %	on assessment results and successful certification subject to conditions of Process norms	30	8778.00	263340.00
3	20 %	Outcome based on placement as per Process Norms. For details refer to S. NO 15 of Process Norms	30	3511.20	105336.00

Note:

- The Detailed terms and conditions shall be as per the Contract Agreement signed between ASDM, Government of Assam and M/s Foundation of Modern Studies and Social Welfare (134/2017)
- · Kindly acknowledge receipt of the same through email and letter to the respective department.

Thanking You

Work Order No.: ASDM_PLSFS_AS195700179100_LFS/ Work Order Date: 15/01/2019

Q0401_17012019_08001200_NR/172

Department Name: ASDM

Name of Training Partner: Foundation of Modern Studies and Social Welfare

Name of Traning Center: Foundation of Modern Studies and Social Welfare (134/2017) TC ID: AS195700179100

TC Address: BDMCHE BUILDING. AZAD HIND ROAD.LANE NO -5,Block-null,District-Cachar,State-Assam,Pincode-788007
Contact Number: 7005955284

E-mail: imsdelhi59@gmail.com

Subject: Work Order For Skill Training under Placement Linked State Funded Scheme

Dear Sir/Madam,

In reference to contract signed by you under the Placement Linked State Funded Scheme by ASDM, Government of Assam and the list of beneficiaries submitted by you the following batch is awarded to Foundation of Modern Studies and Social Welfare (134/2017) under Placement Linked State Funded Scheme.

Batch Information

Parent Target Name: Target for 2018-19 (30:50:20) Target ID: 244

 Batch ID: 172
 Batch Code: ASDM_PLSFS_AS195700179100_LFS/Q0401_17012019_08001200_NR_1_1

 Batch Start Date: 17/01/2019
 Batch End Date: 12/07/2019
 Shift: 08:00 AM to 12:00 PM

 Sector: Life Science
 Job Role: Medical Sales Representative
 QP Code: LFS/Q0401

Payment Information

Cost Number of Category Candidates (A)		Rate Per Hour Course Duration (In INR) (B) (In Hrs) (C)		Payment Per Candidate (In INR) (D=B x C)	Total Payment (In INR) (E=A x D)
2	25	39.90	520	20748.00	518700.00

Note: Total Payment Is Exclusive of tax as per Government Norms

SI.No.	Instalment And % of Cost (A)	Milestones	Total Candidates (B)	Unit Price (In INR) (C)	Total Amount (In INR) (D = B x C)
1	30 %	On commencement of the training batch against validated candidates	25	6224.40	155610.00
2	50 %	on assessment results and successful certification subject to conditions of Process norms	25	10374.00	259350.00
3	20 %	Outcome based on placement as per Process Norms. For details refer to S. NO 15 of Process Norms	25	4149.60	103740.00

Note:

- The Detailed terms and conditions shall be as per the Contract Agreement signed between ASDM, Government of Assam and M/s Foundation of Modern Studies and Social Welfare (134/2017)
- · Kindly acknowledge receipt of the same through email and letter to the respective department.

Thanking You

Work Order No.: ASDM_PLSFS_AS195700179100_SSC/ Work Order Date: 28/02/2019

Q2212_01032019_14001800_NR/676

Department Name: ASDM

Name of Training Partner: Foundation of Modern Studies and Social Welfare

Name of Traning Center: Foundation of Modern Studies and Social Welfare (134/2017). TC ID: AS195700179100.

TC Address: BDMCHE BUILDING. AZAD HIND ROAD.LANE NO -5,Block-null,District-Cachar,State-Assam,Pincode-788007

Contact Number: 7005955284 E-mail: imsdelhi59@gmail.com

Subject: Work Order For Skill Training under Placement Linked State Funded Scheme

Dear Sir/Madam,

In reference to contract signed by you under the Placement Linked State Funded Scheme by ASDM, Government of Assam and the list of beneficiaries submitted by you the following batch is awarded to Foundation of Modern Studies and Social Welfare (134/2017) under Placement Linked State Funded Scheme.

Batch Information

Parent Target Name: Target for 2018-19 (30:50:20) Target ID: 877

 Batch ID: 676
 Batch Code: ASDM_PLSFS_AS195700179100_SSC/Q2212_01032019_14001800_NR_1_1

 Batch Start Date: 01/03/2019
 Batch End Date: 26/07/2019
 Shift: 02:00 PM to 06:00 PM

 Sector: IT-ITES
 Job Role: Domestic Data Entry Operator
 QP Code: SSC/Q2212

Payment Information

Cost Category	Number of Candidates (A)	,		Payment Per Candidate (In INR) (D=B x C)	Total Payment (In INR) (E=A x D)
2	29	39.90	440	17556.00	509124.00

Note: Total Payment Is Exclusive of tax as per Government Norms

SI.No.	Instalment And % of Cost (A)			Unit Price (In INR) (C)	Total Amount (In INR) (D = B x C)
1	30 %	On commencement of the training batch against validated candidates	29	5266.80	152737.20
2	50 %	on assessment results and successful certification subject to conditions of Process norms	29	8778.00	254562.00
3	20 %	Outcome based on placement as per Process Norms. For details refer to S. NO 15 of Process Norms	29	3511.20	101824.80

Note:

- The Detailed terms and conditions shall be as per the Contract Agreement signed between ASDM, Government of Assam and M/s Foundation of Modern Studies and Social Welfare (134/2017)
- . Kindly acknowledge receipt of the same through email and letter to the respective department.

Thanking You